(&EX] A2 71271 21/107H)

e F = = = o w T |& =& =F
agl = Egtifiz | St A=|Zda | E2 2| E2 |2t |E2|C)a | Eat|cyat

2010& 118 1,50111,43211,357 1,327 |1,207 | 1,427 |1,318 | 1,427 | 1,318 | 1,391 | 1,302 | 1,391 | 1,302

128 1,45811,42811,398 1,368 | 1,248 | 1,365 | 1,325 | 1,360 | 1,325|1,334|1.303 | 1.334|1.303
20114 18 1,504 11,474 11,444 1,414 11,294 |1,414 |1,374 |1,414 | 1,374 | 1,374 1,354 | 1,374 |1.354

2g 1,595]1,565 1,535 | 1,505 1,385 | 1,509 | 1,469 | 1,507 | 1,467 | 1,461 1,441 | 1.461 1,441

3 1,62911,599 1,569 1,539 1,419 |1,539 | 1,499 | 1,539 | 1,499 | 1,489 | 1,469 | 1.489|1.469

4g 1,676]1,654|1,627 1,597 |1,477 |1,578 |1,546 | 1,578 1,546 | 1,530| 1,514 | 1.534|1.519

5¢ 1,670]1,650|1,630|1,600|1,480 | 1,554 |1,527 | 1,554 | 1,524 | 1,523 1,503 | 1.523|1.503

E 1,625]1,595|1,575 (1,545 (1,425 | 1,515 1,485 | 1,515 | 1,475 | 1,475|1.445 | 1.475|1.445

74 1,614]1,540|1,520| 1,490 1,370 | 1,504 [1,430 1,504 | 1,424 | 1,464 1,390 | 1,464 | 1,390

8g 1,495|1,403|1,381 1,351 1,231 1,377 [1,293 1,377 | 1,293 | 1,345|1,253 | 1,345| 1,253

98 1,706 11,587 1,557 | 1,527 |1,407 | 1,584 | 1,465 | 1,584 | 1,465 | 1,556 | 1,437 | 1,556 | 1,437

108 1,652]1,535|1,488 | 1,458 |1,338 | 1,527 | 1,410 | 1,526 | 1,409 | 1,497 | 1,374 | 1,497 | 1,369
1g 1,45411,41811,384 (1,354 — |1,324|1,279 (1,314 1,269 1,294 |1,258 | 1,294 | 1,248

128 1,58011,523|1,487 1,457 — |1,450/1,383|1,440|1.373|1,420|1.363 | 1.420|1.353
20124 18 1,515]1,465|1,435|1,405| — ]1,385|1,325|1,375|1,315|1,355|1.305 | 1,354 | 1,294
2g 1,589]1,639|1,509 1,479 — |1,459|1,399 1,449 1,389 |1,429|1,370 | 1.428|1,368

3g 1,417]1,367|1,337 1,307 | — |1,287 (1,227 |1,277 1,217 1,257 1,197 | 1.257[1.197

4d 1,528|1,47811,448|1,418| — |1,396(1,356|1,388|1,3281,368|1,308 | 1,368 | 1.308
4824Y 1,450/ 1,400(1,370|1,340| — |1,310|1,280 (1,310 (1,250 (1,290 (1,230 | 1,290|1,230

29% 11,450(1,400(1,370(1,340| — [1,310(1,280(1,310]1,250|1,290|1.230|1.290|1.230

58 2% 11,450(1,400|1,370|1,340| — |1,310]1,280|1,310(1,250(1,290|1,230| 1,290 1,230

4¢ 11,400/ 1,350/1,320(1,290| — |1,250|1,230 1,250 |1,200(1,230(1,180 [1,230(1,180

~

1,40011,350(1,320(1,290| — |1,250|1,230|1,250|1,200|1,230|1,180 | 1,230|1,180
1,350(1,32011,290| — |1,250(1,230{1,250|1,200|1,230|1,180|1,230|1,180
1,40011,350(1,320(1,290| — |1,250|1,230(1,250|1,200|1,230|1,180|1,230|1,180
1,400]1,350]1,32011,290] — ]1,250]1,230]1,250]1,200]1,230|1.18011.230/1.180
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(RIRI71H, EA|, #/kg)

B + 5 2 £ M4l Ty OFHE OF
T = | = 2 cH | | |
20104118 1,806 1,800 1,729 1,804 1,806 1,816 1,706
128 1,543 1,573 1,630 1,612 1,547 1,593 1,443
20119 18 1,687 1,755 1,855 1,749 1,687 1,694 1,574
28 1,473 1,567 1,667 1,557 1,480 1,480 1,373
3 1,577 1,577 1,581 1,611 1,581 1,587 1,471
48 2,000 2,000 1,913 1,959 2,010 2,003 1,887
58 2,293 2,293 2,196 2,225 2,293 2,293 2,193
68 1,484 1,565 1,565 1,557 1,487 1,509 1,355
78 1,383 1,480 1,503 1,477 1,380 1,403 1,280
8 1,977 1,977 1,974 1,969 1,981 1,990 1,874
e 1,884 1,884 1,958 1,874 1,887 1,900 1,781
10€ 1,620 1,660 1,760 1,678 1,620 1,637 1,517
1€ 1,765 1,865 1,965 1,845 1,765 1,768 1,639
128 1,680 1,780 1,880 1,760 1,680 1,680 1,567
20124 1€ 1,639 1,635 1,735 1,622 1,542 1,552 1,419
28 1,419 1,484 1,684 1,515 1,419 1,419 1,297
3 1,845 1,941 2,041 1,921 1,838 1,834 1,738
48 1,660 1,730 1,730 1,720 1,667 1,683 1,543
43 26 1,400 1,500 1,500 1,500 1,400 1,400 1,300
29d 1,600 1,700 1,700 1,700 1,600 1,600 1,500
53 2Y 1,600 1,700 1,700 1,700 1,600 1,600 1,500
5% 1,500 1,600 1,600 1,600 1,500 1,500 1,300
9y 1,600 1,600 1,600 1,650 1,600 1,600 1,500
17Y 1,600 1,600 1,600 1,650 1,600 1,600 1,500
19Y 1,600 1,600 1,600 1,600 1,600 1,600 1,300
1Y 1,600 1,600 1,600 1,600 1,600 1,600 1,200

(% CH1.6kgOl&y, &:1.4~1.6KkgDITH A:1.4kga|2h
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